(6) ARtk
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A B EF B H B 3t & 1= &
£ =

A5l A F | A1 F | BRE | BEE] A F |61 F| BERE [ BERE] A F | 51 F | BEK(BEE]| A F | 61 F | BEK | #HE
=] 5t 16,372 [ 16,929 -557 -3.3 120 114 +6 +5.3 ] 19,425 | 20, 043 —618 [ -3.1] 1,004 [ 1,175 =171 [ -14.6
1A% 1,253 | 1,300 -47 -3.6 1 9 =2 | -22.2 1,492 1,541 -49 | -3.2 11 106 =29 | -27.4
2A% 1,218 | 1,230 -12 -1.0 4 1 -3 | -42.9 1,433 1,432 +1 +0. 1 16 93 -17 ] -18.3
3A® 1,338 | 1,413 =15 -5.3 13 10 +3 | +30.0 1,564 1, 684 -120 [ -7.1 18 89 -1 | -12.4

4 A% 1,315 [ 1,479 -164 [ -11.1 10 11 -1 -9.1 1, 565 1, 766 -201 [ -11.4 83 107 =24 | -22.4
5A% 1,307 [ 1,208 +99 +8.2 9 5 +4 | +80.0 1,551 1,429 +122 | +8.5 18 83 -5 —6.0

6 A% 1,377 | 1,386 -9 0.6 14 1 +7 1 +100.0 1, 627 1, 603 +24 | +1.5 100 92 +8 +8.7
7A% 1,389 [ 1,506 -117 -1.8 15 12 +3 | +25.0 1, 649 1,785 -136 [ -7.6 82 100 -18 [ -18.0
8AH 1,308 | 1,340 -32 -2.4 11 1 +4 | +57.1 1,596 1, 600 41 0.3 88 80 +8 | +10.0

9 A% 1,317 | 1,31 -54 -3.9 8 9 -1 ] -11.1 1,581 1, 652 -11 4.3 16 92 -16 | -17.4
10A 5 1,445 | 1,529 -84 -5.5 9 11 -2 | -18.2 1,724 1,812 -88 | -4.9 80 116 =36 [ -31.0
1MAH 1,483 | 1,536 -53 -3.5 9 11 -2 | -18.2 1,758 1,826 —68 | -3.7 817 104 -17 ] -16.3
1285 1,622 | 1,631 -9 -0.6 11 15 -4 1 -26.7 1,885 1,913 -28 | -1.5 99 113 -14 [ -12.4

(7) BR&RIH4E
X5
A5 F B B K 3t & = &
£ =

A5l A F | 51 F | BEK [ BRE|A F |61 F | BEK | EHRE| R F | 51 F | BEK | BRE| X F [ 51 F | BEK | BEE
1 A X 1,253 | 1,300 -41 -3.6 1 9 -2 | -22.2 1,492 1, 541 -49 | -3.2 11 106 =29 | -2]1.4
2 A X 2,41 2,530 -59 -2.3 11 16 -5 | -31.3 2,925 2,973 -48 | -1.6 153 199 -46 | -23.1
3 A X 3,809 | 3,943 -134 -3.4 24 26 -2 -1.1 4,489 4,657 -168 | -3.6 231 288 =57 | -19.8
4 A X 5,124 | 5,422 -298 -b.5 34 37 -3 -8. 1 6, 054 6, 423 -369 | -b.7 314 395 -81 | -20.5
5 A X 6, 431 6, 630 -199 -3.0 43 42 +1 +2.4 1, 605 1,852 =247 | 3.1 392 478 -86 [ -18.0
6 A X 1,808 [ 8,016 -208 -2.6 57 49 +8 | +16.3 9,232 9, 455 =223 | -2.4 492 570 -18 | -13.7
7 A X 9,197 | 9,622 -325 -3.4 12 61 +11 | +18.0 | 10,881 [ 11,240 -359 | -3.2 574 670 -96 | -14.3
8 A X 10,505 | 10, 862 -357 -3.3 83 68 +15 | +22.1 | 12,477 | 12,840 -363 | -2.8 662 150 -88 | -11.7
9 A X 11,822 | 12,233 -411 -3.4 91 11 +14 | +18.2 ] 14,058 [ 14,492 -434 | -3.0 138 842 -104 | -12.4
10 A X 13,267 | 13,762 -495 -3.6 100 88 +12 | +13.6 | 15,782 | 16,304 =522 | 3.2 818 958 -140 [ -14.6
1 A X 14,750 | 15,298 -548 -3.6 109 99 +10 | +10.1 | 17,540 [ 18,130 -590 | -3.3 905 | 1,062 -157 [ -14.8
12 A X 16,372 | 16,929 -557 -3.3 120 114 +6 +5.3 ] 19,425 | 20,043 —618 [ -3.1] 1,004 [ 1,175 -171 [ -14.6




